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Vevley Lovm (se¢. 3.1)
U=alx-p)*+q
veda = (p,9)
axis = X=P
range = 97/2_, Nno reftechin
Yy<g, reflechin

V(_V‘\'\l‘l S*V&‘b'\ '

X y-inkercept T nyh clear.
b\\l‘! L3 |Q“\’\3 x=O

Stardard Foran ( 3-&>
Y=ax® +ox +C

Vertied streteh = Gy
Y-taercept (0,¢)

9(‘ VerkX 1§ nok (4s‘,lb seen.

Solve for = -
D P %\
Sub +hat in to get 'z'.
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@_"_”Lk For eceh of Fhe .c‘.‘,\\,,\__m‘.5
determine +he VarieX A of sy-\w"g,
Cange, Y-miereept am\ Verteal streth

a) y= —2(x+4)’~
verkx (-4,-7)
ax\s X=-Y4
Fang< fsl y< -7, -déKg
V-S= &

-k (let x-o)

Y==(0+4)>"
==(16)-T

b) y=-3x*412%-Y4
y-iks (0,~4)
V.S8% 3
Deder mine Hhe Vertew —b
R g e
5?-3) A ﬁg,?;:od“

= =3 + 1)~
==3(4)+a4y-y
= =l2+234-4
=%
Vertex (Q ?)
axis of Ia«\mc'\vn ¥=a
range! fsl‘j < %, 36'{3

P9 174
L&, 0,7 % ;1
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